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Chapter 9

Estimating and Managing Costs
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9.1 Estimating Costs
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Estimating Costs to Compare and Select Projects
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Analogous Estimate
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Analogous Estimate for JohnÕs Move
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Parametric Estimate
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Parametric Estimate for JohnÕs Move
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Estimating Costs to Initiate Projects
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Estimate During the Initiation Phase of JohnÕs Move
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Vendor Bid Analysis
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Using RFPs to Make Estimates on JohnÕs Move
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Bottom-Up Estimating

+85�=?CD�133EB1D5�1>4�D9=5	3?>CE=9>7�5CD9=1D9>7�=5D8?4�9C�D?�945>D96I�D85�3?CD�?6
5138�9D5=�9>�5138�13D9F9DI�?6�D85�C3854E<5��9>3<E49>7�<12?B�1>4�=1D5B91<C
�"6�I?E�F95G

�
 )5AE9B5C�1�29445B�D?�?665B
C?<ED9?>C�1>4�9451C�?>�8?G�D?
@5B6?B=�D85�C3?@5�?6�G?B;�1>4
1�@B935�6?B�@5B6?B=9>7�D81D
G?B;


�
 %55DC�1�CD1>41B4�?6�B5<9129<9DI
1>4�31@129<9DI


�81@D5B����CD9=1D9>7�1>4�%1>179>7��?CDC

�

��CD9=1D9>7��?CDC ���



D85�@B?:53D�C3854E<5�1C�1�895B1B38I�G85B5�D85�75>5B1<�45C3B9@D9?>C�?6�D1C;C�1B5�1D
D85�D?@�1>4�D85�<?G5B�<5F5<C�253?=5�=?B5�45D19<54��69>49>7�D85�@B935�?6�5138�9D5=�1D
D85�<?G5CD�<5F5<�1>4�D85>�CE==9>7�D85=�D?�45D5B=9>5�D85�3?CD�?6�89785B�<5F5<C�9C
31<<54bottom-up estimating � 


Bottom-Up Estimate for JohnÕs Move
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Rolling Up a Detailed Cost Estimate for JohnÕs Move
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Activity-Based Estimates
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Establishing a Budget
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Cost of Tasks
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Budget Timeline
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9.2 Managing the Budget

LEARNING OBJECTIVES
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Managing Cash Flow
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Contingency Reserves
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Management Reserves
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Evaluating the Budget During the Project
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Reporting Budget Progress on JohnÕs Move
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Earned Value Management
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The Budgeted Cost of Work and Planned Value
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Planned Value on Day Six of JohnÕs Move
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Budgeted Cost of Work Performed and Earned Value

+85budgeted cost of work performed (BCWP)
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Comparing PV, EV, and AC in JohnÕs Move on Day Six
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Schedule Variance
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Schedule Variance on JohnÕs Move
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Cost Variance on JohnÕs Move
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Variance Indexes for Schedule and Cost
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Cost Performance Index of JohnÕs Move
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Estimated Cost to Complete the Project
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Atypical Cost Variance
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Estimate Final Project Cost

"6�D85�3?CDC�?6�D85�13D9F9D95C�E@�D?�D85�@B5C5>D�F1BI�6B?=�D85�?B979>1<�5CD9=1D5C��9D
G9<<�16653D�D85�D?D1<�5CD9=1D5�6?B�D85�@B?:53D�3?CD
�+85�>5G�5CD9=1D5�?6�D85�@B?:53D
3?CD�9C�D85estimate at completion (EAC)�� 
�+?�31<3E<1D5�D85������D85�5CD9=1D5�D?
3?=@<5D5���+���9C�14454�D?�D85�13DE1<�3?CD������?6�D85�13D9F9D95C�1<B514I�@5B6?B=54

�H@B5CC54�1C�1�6?B=E<1��������������+�


Estimate at Completion for JohnÕs Move

+85�B5F9C54�5CD9=1D5�1D�3?=@<5D9?>�������6?B�#?8>PC�=?F5�1D�D89C�@?9>D�9>�D85
@B?35CC�9C��������
��
������
���

������
����
��


)565B�D?�97EB5��
���*E==1BI�?6�+5B=C�1>4��?B=E<1C�6?B��1B>54�-1<E5��>1<IC9C�6?B
1�CE==1BI�?6�D5B=C�1>4�6?B=E<1C


�42?<0���� &?88,<C�:1�'0<8=�,9/��:<8?7,=�1:<��,<90/�),7?0��9,7C=4=

��
 )5F9C54�@B?:53D�2E475D�21C54
?>�13DE1<�3?CD�D?�41D5�@<EC�D85
5CD9=1D5�D?�3?=@<5D5���+��


�81@D5B����CD9=1D9>7�1>4�%1>179>7��?CDC

�
��%1>179>7�D85��E475D ���



KEY TAKEAWAYS

K �HDB1�=?>5I�9C�1<<?31D54�9>�1�3?>D9>75>3I�6E>4�D?�451<�G9D8�13D9F9D95C
G85B5�3?CDC�5H3554�5CD9=1D5C
��E>4C�1B5�1<<?31D54�9>�1�=1>175=5>D
B5C5BF5C�9>�31C5�1�C97>96931>D�?@@?BDE>9DI�?B�381<<5>75�?33EBC�D81D
B5AE9B5C�381>75�?6�C3?@5�2ED�6E>4C�1B5�>55454�9==5491D5<I�256?B5�1
C3?@5�381>75�31>�DI@931<<I�25�>57?D91D54


K *3854E<5�F1B91>35�9C�D85�49665B5>35�25DG55>�D85�@1BD�?6�D85�2E475D�D81D
81C�255>�4?>5�C?�61B���-��F5BCEC�D85�@1BD�D81D�G1C�@<1>>54�D?�25
3?=@<5D54�2I�>?G��(-�
�*9=9<1B<I��D85�3?CD�F1B91>35�9C�D85�49665B5>35
25DG55>�D85��-�1>4�D85�13DE1<�3?CD�����


K +85�C3854E<5�@5B6?B=1>35�9>45H��*("��9C�D85�B1D9?�?6�D85�51B>54�F1<E5
1>4�D85�@<1>>54�F1<E5
�+85�3?CD�@5B6?B=1>35�9>45H���("��9C�D85�B1D9?�?6
D85�51B>54�F1<E5���-��D?�D85�13DE1<�3?CD�����


K +85�6?B=E<1�EC54�D?�31<3E<1D5�D85�1=?E>D�?6�=?>5I�>55454�D?�3?=@<5D5
D85�@B?:53D���+���45@5>4C�?>�G85D85B�?B�>?D�D85�3?CD�F1B91>35�D?�D89C
@?9>D�9C�5H@53D54�D?�3?>D9>E5��DI@931<��?B�>?D��1DI@931<�
�"6�D85�3?CD
F1B91>35�9C�1DI@931<��D85��+��9C�C9=@<I�D85�?B979>1<�D?D1<�2E475D������
=9>EC�D85�51B>54�F1<E5���-�
�"6�D85I�1B5�DI@931<�?6�6EDEB5�3?CD�F1B91>35C�
D85��+��9C�14:ECD54�2I�49F949>7�D85�49665B5>35�25DG55>�����1>4��-�2I
D85��("


K +85�69>1<�2E475D�9C�D85�13DE1<�3?CD������D?�D89C�@?9>D�@<EC�D85�5CD9=1D5�D?
3?=@<5D5���+��


�81@D5B����CD9=1D9>7�1>4�%1>179>7��?CDC

�
��%1>179>7�D85��E475D ���



EXERCISES



 %?>5I�D81D�9C�1<<?31D54�6?B�451<9>7�G9D8�E>@<1>>54�2ED�@B5493D12<5
5H@5>C5C�9C�000000000�B5C5BF5


�
 +85�6?B=E<1�EC54�D?�31<3E<1D5�D85�3?CD�@5B6?B=1>35�9>45H�9C
000000000000


�
 +85�6?B=E<1�EC54�D?�31<3E<1D5�D85�5CD9=1D5�D?�3?=@<5D5�6?B�1DI@931<�3?CD
F1B91>35C�9C�0000000000000000000000000


�
 +85�CE=�?6�D85�2E475D54�1=?E>DC�6?B�D85�D1C;C�D81D�81F5�255>
@5B6?B=54�9C�D85�0000000�0000000��DG?�G?B4C�


�
 *3854E<5�F1B91>35�9C�D85�0000�=9>EC�D85�00000�1>4�3?CD�F1B91>35�9C�D85
0000�=9>EC�D85�00000��EC5�13B?>I=C�


�
 *3854E<5�@5B6?B=1>35�9>45H�9C�0000���00000�1>4�D85�3?CD�@5B6?B=1>35
9>45H�9C�00000���000000��EC5�13B?>I=C�


�
 +85�B5F9C54�69>1<�2E475D�9C�D85�0000�@<EC�D85�00000��EC5�13B?>I=C�


�CD9=1D9>7��1B>54�-1<E5

�?>C945B�1�@B?:53D�I?E�1B5�61=9<91B�G9D8�9>�G8938�D85�3?>DB13D?B�?B�C5BF935
@B?F945B�G8?�G1C�@5B6?B=9>7�D85�G?B;�>55454�D?�25�B5@<1354�256?B5�D85�:?2
G1C�3?=@<5D54
��5C3B925�8?G�D85�F1<E5�?6�D85�3?>DB13D?BPC�566?BDC�E@�D?�D81D
@?9>D�G1C�45D5B=9>54�1>4�8?G�D81D�5F1<E1D9?>�3?=@1B54�D?�1>�51B>54�F1<E5
1>1<IC9C


�81@D5B����CD9=1D9>7�1>4�%1>179>7��?CDC

�
��%1>179>7�D85��E475D ���



9.3 Exercises
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SHORT ANSWER QUESTIONS
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9.4 Software and Technology Exercise

LEARNING OBJECTIVE
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